BX1T Z U 3R 1 1R AT

@ﬁ%m

3~10 e K
LZ 15~100 FEEH:S FZ
90 L3 125~ F3
115 F4
142 £S5
F6
F7

www.rui-fen.com



B 1 B 2 A R [E) 7

BRI EERBONDE
*FBRFHEIATRE O NE

B © A BRI oD B
R NSETERAARE - SRR - B
NEWEM - BENBERIE - ST0EE
B8 B -

K [E) I B ) S BRI B A [E
Allowance Radial Loading with rpm Curve
7,000
6,500 J—
Z 6000 |\ BX42
2 5500 \\
B 500 — BX60
O 4,500
Z 5 4000 ~
RS 3500 BX90
A=k fr“ 3,000
[ 8 2500
< 2,000 BX115
= 1,500
<=D 1,000
< 500 — BX142
0 N N N N L
0 300 600 900 1200 1500 1800 2100
D EREEZR rpm / Output Shaft rpm
UEBEHREE
Coefficient curve with Position Loading
1.6 —BX42
14
- \ —BX60
Fy N 1.2
g @10 BX90
I L \
H{_[[m E 0.8
=G \ BX115
0.4 —BX142
02
0 50 100 150 200 250 300 350 400
L@ N AIE Xmm / Radial Loading Position Xmm

www.rui-fen.com



BRE

#i1%& Specifications | B4 Unit Stage | Ratio | BX42 | BX60 | BX90 | BX115 BX142
3 | 150 | 42 | 125 | 238 571
4 | 150 | 38 | 122 | 250 599
5 | 160 | 40 | 150 | 256 630
g 6 | B35 | 34 | 108 | 235 610
7 [ 225 | 34 | B30 | 265 538
8 | 30 | 33 | 130 | 240 506
9 |25 | 31 | 128 | 23 500
0 | 220 | 31 | 128 | 235 49
5 | 141 | 36 | 126 | 238 571
BUERIL D Ty N 20 | 2.0 | 38 | 22 | 285 599
NominalOutput 25 | 140 | 36 | 157 | 300 630
Torque 30 | 32 | 36 | 136 | 288 591
35 | 119 | 34 | 130 | 265 538
5 L4 1o | 38 [ 122 | 258 599
50 | 108 | 36 | 157 | 300 635
60 | 132 | 34 | 108 | 229 533
70 | N9 | 34 | no | 225 538
80 | 129 | 33 | 103 | 2 506
90 | 120 | 31 | 102 | 220 500
00 | 120 | 31 | 128 | 235 49
SENE N 1112 13~100 IfEFEEEH AR 25 EEEML T 2 5times
Emergency Stop Torque ! 3times Nominal Out put Torque | Nominal Output Torque
BIEWARIE Ny om | 112 [3~100 [3,000 | 3,000 | 3,000 | 3,000 2,500
Nominal Input Speed
ﬁjﬂg“”% rom | L1,L2 | 3~100 6,000 | 6,000 |6,000 | 6,000 5,000
ax. In put Speed
o . 1 [3~10 [=7 <7 =7 =7 <7
RAEEIR Backlash | arcmim 5 e 05 T <90 [ <10 | <10 | < 10 <10
ETTIES Nmyarcminl—E_| 3-10 [213 [43 [ |32 65
Torsional Rigidity L2 [15~100 | 1.28 2.6 6.5 19 39
EASHER Fas N |12 | 3~100 | 700 |1,400 | 2,800 | 5000 7,500
Max. Radial Load
BAS TR Foa N L2 [3~100 | 350 | 700 [1,400 | 2,500 3,750
Max. Axial Load
ERE® Life hrs | L1,L2 |3~100 20,000
SRR “C | L1L2 |3~100 -10°C~+90°C
peratmg Temperature
)8 Lubrication L1L2 |3~100 & pOEE HRE Lithium Complex Synthetic
%R n -
Mounting Position L1,L2 [3~100 £=7 1@ Any Direction
18 1E Running Noise | dB(A) [LTL2 [3~100 | <63 [ <65 [ <65 | <68 | <70
~ > Q79
ME n  Efficiency % t; 1;180 ZSZ"//Z
_ LT | 3~10 043 [121 |37 |74 132
B8 Weight k9 (2 |15~100 [ 0.70 |1.70 |41/5.2]8.2/10 15.0/19.0
Bh3& Protection Level L1,L2 |3~100 IP65

www.rui-fen.com




IR EE) IS 2

BXEHES 43K Moment of Inertia Table
B fIUnit kg_cm2 2% Model
" s BX42 BX60 BX90 BX115 BX142
SEtXaiﬁZe /Jiiﬁ(t)b 13 AR 55 S B B 1S Servomotor Shaft Diameter
<g8l=g8[=p1a[<p14] 919 p24]<g19[< 24| 424] ¢35] ¢ 42
3 0.02 0.08 0.53 | 0.48 1.63 [4.49 |8.20 [7.82
4 ' 048 | 0.42 143 1297 |6.68 |6.30
5 0.46 | 0.40 136 |2.68 |6.39 |6.00
BE 6 130 |255 |6.26 |5.88
1-stage 7 0.01 0.07 1.30 | 251 | 6.22 |5.84
8 ' 0.44 | 0.38 248 | 6.19 |5.81
9 1.28 | 247 | 6.18 [5.80
10 246 | 6.17 |5.79
15
20 044 | 039 | 044 1.37 137 | 6.25 | 5.87
25
30 043|038 | 043 | 134 |134 | 616 | 578
35 044 | 039 | 044 | 137 (137 | 6.25| 5.87
g | 40
2—5tages 50 0.01 {0.01 0.07 0.0/
60
70 043 | 038 | 043 | 134 |134 | 616 | 5.78
80
90
100

1. UE REE © 1 = B ABER/8 LR -

2. BPRME . RE2%|RERH LB NAEMMSZEUE -

3. RRE@AREXEEN : EHREDEPOLUE - BERI00rpm - R4 FPHAIT ZEUE -
4. BEAFBH <60%AT & - HOEAFmNIIRIIEE , B2EFEMN50%LL D -

S IRE(E ; JBENIAR - TEEN - T AW - IR0 R RIS 2 8E -

www.rui-fen.com



TR — B RST B (L)

C5
L7 Cé
L3 c7 PCD-@C3
oD2 @0\ L4 c8 4-C4
| /1 — —
Tl | A Ik
(I ERE RGN NsThY ] ]
S e e ’
[ I
| —1 |
| o g
L2 L8 0ci10
L10
B1 L6 L5
T e
oD3 oD3 =
JEEA(S) 2 8l (K)
iz BX42 BX60 BX90 BX115 BX142
D1 50 70 100 130 165
D2 3.5 55 6.8 9 11
D3n7 13 16 22 32 40
D4 n7 35 50 80 110 130
D5 13.6 19.5 29.2 34.2 53.9
D6 M4x0.7P M5xP0.8 M6xP1.0 M8xP1.25 M16xP2.0
D7 56 80 116 152 190
L1 42 60 90 115 142
L2 25 325 46.5 64 92
L3 5 5 5 10 10
L4 1 1.5 1.5 2 3
L5 15 20 30 40 65
L6 2 3 3 5 5
L7 5 6 8 16 18
L8 60 82.5 107 140 171.5
L9 10 12 15 28 36
L10 85 115 153.5 204 263.5
*C1H7 8 14 19 24 35
*C2H7 30 50 70 110 114.3
“C3 46 70 90 145 200
“Ca M4x0.7P M5xP0.8 M6xP1.0 M8xP1.25 M12xP1.75
“C5 26 31 435 67 83
“C6 17 21 30 18 20
“C7 8.5 11 14 31 39
“C8 4 55 7 22 28
“C9 56 80 116 160 230
*C10 425 60 90 120 176
B1 5 5 6 10 12
H1 15 18 245 35 43

*CI~CI0/ARFERSY - SREBEARAMBEIRFER T mE

www.rui-fen.com

o



AR B R ST [B(L2)

L3 c7 PCD-@C3
302 N L4 c8 ey
o
T T
1 6 &)
: Iy \| / | \ o
<|w N i i e e ey W
nla ree— W1 1 0 ¥ ) i [GINO) _
SIS N I ST S R .
i L]
. I = SR S
oL N» L2 L8 0c10
L10
B1 L6 L5
T =5
oD3 D3 2| |L9
FEER(S) i 1 (K)

HUGE BX42 BX60 BX90 BX115 BX142
D1 50 70 100 130 165
D2 3.5 55 6.8 9 11
D3h7 13 16 2 32 40
D4 n7 35 50 80 110 130
D5 13.6 19.5 29.2 34.2 53.9
D6 M4x0.7P M5xP0.8 M6xP1.0 M8xP1.25 M16xP2.0
D7 56 80 116 152 190
L1 42 60 90 115 142
L2 25 325 46.5 64 92
L3 5 5 5 10 10
L4 1 15 15 % 3
L5 15 20 30 40 65
L6 2 3 3 5 5
L7 5 6 8 16 18
L8 77 105 1385 176.5 218
L9 10 12 15 28 36
L10 102 137.5 185 240.5 310
*C1h7 8 14 19 24 35
*C27 30 50 70 110 1143
*C3 46 70 90 145 200
*C4 M4x0.7P M5xP0.8 M6xP1.0 M8xP1.25 M12xP1.75
*C5 26 31 435 67 83
*C6 17 21 30 18 20
*C7 8.5 11 14 31 39
*C8 4 55 7 7 28
*C9 56 80 116 160 230

*C10 425 60 90 120 176
B1 5 5 6 10 12
H1 15 18 245 35 43

*CI~CI0REREZER N » SMBERAMhEEREER T mE: -

www.rui-fen.com



	
	
	
	
	
	

